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(deime (area-of-disk r) Srea-of-disk
( 3.14 >~ O)Eﬁﬁ
(* r 1)) )
(define (area-of-ring outer inner) | f
: area-of-ring
(- (area—of—d.lsk.outer) " DERS
(area-of-disk inner))) )
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(define {(area-ocf-disk r)
(& .14
A A b I Y
(define {(area-of-ring outer inner)
{— {area—-of-disk ocuter)
(area—-of-disk inner)))
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area—of-ring : number number —> number
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- area—of—ring : number number —> number
(define (area—of-ring outer inner) ...)




Purpose
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to compute the area of a ring whose radius is

outer and whose hole has a radius of inner
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- area—of—ring : number number —> number

- to compute the area of a ring whose radius is
- outer and whose hole has a radius of inner

(define (area—of-ring outer inner) ...)

10




Purpose M3hE ~¥,,

i hedre v gl

c OV S LMAZ T DEDHNDIA . BlEa%z
AR PRICEDIAD E, KDDOHMDYT 0N

- area—of—-ring : number number —> number

» to compute the area of a ring whose radius is
- outer and whose hole has a radius of inner
(define ( outer inner) ...)
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area—of-ring should produce 50.24
for the inputs 5 and 3
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- area—of—ring : number number —> number

- to compute the area of a ring whose radius is

- outer and whose hole has a radius of inner

- example: (area—of-ring 5 3) should produce 50.24
(deﬂne (area—of-ring outer inner) ...) 12
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- area—of—ring : number number —> number

- to compute the area of a ring whose radius is

- outer and whose hole has a radius of inner

- example: (area—of-ring 5 3) should produce 50.24
(deﬂne (area—of-ring outer inner)

(- (area—of—disk outer)
(area—of—disk inner)))

)
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Contract:
area—of-ring : number number —> number
(define (area—of-ring outer inner) ... )

Purpose:

to compute the area of a ring whose radius is outer and whose hole
has a radius of inner

Example:
(area—of-ring 5 3) should produce 50.24
Definition:
(define (area—of-ring outer inner)
(- (area—of—disk outer)
(area—of—disk inner)))
Tests:
(area—of-ring 5 3) ;; expected value 50.24
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« #§3X T = —(Syntax Errors) %9075-
« S58SchemeDENICE D CTLVRLE
e.g. (10), (10 + 20), (define (P x) (+ (X) 10))
« 247> —(Run-time Errors)
« SchemeDEK(CEDTVWBRTOT S LDETH, HEE
ZIRT E(FRSIRUN.
e.g. (/1 0), (define (fn) (+ (/n3)2)ICxTB(f58)
« :mIEAY T = —(Logical Errors)

* SchemeDEWXICED TN, EXBHITH, EDEX
HEHED TULVB.

e.g. (define (area-of-triangle b h) (+ b

SEEEL, HAIELL )
jDO\EA%DRnT§_5 ([
CTRETE3.

J 21

(define (wage h) (+ 12 h))
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« SN $1000 LU TF7a5(d 1 4%
« SN $5000 LI F72a5(d 1 4.5%
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- cond AHVEL;
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1500 0.045

A7 7]
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* Interest-rate: number -> number

* to determine the interest rate

,; for the given amount

(define (Interest-rate amount)

(cond
(<= amount 1000) O. 0401

L amount = 1000 D EE

(<= amount 5000) 0.045]

/

SR

~1000 < amount = 5000 D&

(> amount 500q) 0.050])} 5000 < amount D& =
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(element3 (list 1 2)) 'S {
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(element3 (list 1 2)) | ] DT

(first (rest (rest (list 1 2))) (first (rest (rest a-list)))
(C a-list = (list 1 2) 72

RAEIND
(first (rest (list 2))) (rest (list 1 2)) = (list 2)

(first empty) (rest (list 1)) > empty )
1> E1—9RNEPCOETE

> [ZEUUX b empty (CX U T first Z2E£{T CE7/R0 )]
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(define ( a-list)
(cond
(= a-list empty) D]
else (+1
/( ( (rest a-list)))]))
/
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File Edit Show
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Windows Language Scheme Help
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|'E Save

| Q| Check Syntax
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|‘:: Step

|® Breal

{deflne (list-length a-list) -
(cond
[ (= a—-1list empty) O]
[2lse (+ 1
(list-length (rest a-1list)))]))
Kl ,
> (list-length (list 11 12)) -
=: expects type <number> as Znd argumsnt, 2
given: empty; other arguments were: (list 11 2
1z)
s
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(error SYMBOL STRING)
(define (give-name name)

(cond
[(symbol? name) (format “"Hello, ~s” name)]
[else (error ‘give-name “symbol expected’)]))



;» profit: number -> number N
;; to compute the profit as the difference betweep
;; revenue and costs at some given ticket-price .
(define (profit ticket-price) > profit BAZEX
(- (revenue ticket-price)
(cost ticket-price)))
;; revenue: number number -> number \li
C

J

;; to compute the revenue, given ticket-pri
(define (revenue ticket-price)

(* (attendees ticket-price) ticket-price)) ,
;; COSt: number -> number N
;; to compute the cost, given ticket-price
(define (cost ticket-price) -

(+ 180 " cost BEZX

(* 0.04 (attendees ticket-price))))
;; attendees: number -> number
;; to compute the number of attendees,
;; given ticket-price
(define (attendees ticket-price) > sttendees BIZK

revenue %X

AN

(+ 120
(* (/ 15 0.10) (- 5.00 ticket-price))))

X.
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(define (f n)
(* n 20))
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« JRD Scheme O T —DIREAICDULNT, 7o
NSRRI Py Ay A

« JRDScheme™ = DrScheme Z{#> TEITI B &,
IRWXFT, TT—RXAvTT—IHRREND

1. (10 + 20) c e BN IS —
2. (define (fy) - -« - E7I5—
(+ x 10))DESE, (f 5)Z2FE1T
3. (define (g x) - - - BXITS—
+ x 10)
4, (define h(x) - - - #BXITS5—
(+ x 10))
5. (define (fn) - -« - FI7T5—
(+ (/n3)2)dD&=E, (f 58)==E1T
6.(+5(/10)) -  -F7TIL>5— A2




